Memory (KiB)

1.8e+06

1.6e+06

1.4e+06

1.2e+06

1e+06

800000

600000

400000

200000

Memory to solve an instance

(UNSAT answers, category OPT-SMALLINT)

T T T T T T T T
H—t YV TY VY YV VPV VY YV VY F VPV YTy
L o i
L * _
= a N
e ® 5‘5 =8 B e S %
.'.?""',’;'& DDDBQDD ol . )
10 15 20 25 30 35 40 45 50 55
number of solved instances
absconPseudo 1 —+— PB-smodels 1.31 o
bsolo 2006/05 <~ Pueblo 1.3 -
glpPB 0.2 -~ *--- Pueblo 1.4 ——
minisat+ 1.14 & SAT4JPSEUDO 2006.2 v
PBS 4.1L SAT4JPSEUDO 2006.2 Heuristics ---v---

PB-smodels 1.28 ---o- -



